Waveform Fitting
for
LAMPS Neutron detector
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CH&! gaussian
* Tmath::Gaus( x, mean, sigma(x) ), sigma(x) : a (xxmean) / a/(1+bx) ( x>= mean )
« CH7H S| A2 rising 0| 2F &S

* Gaussian x exponential
* Tmath::Gaus(x, mean, sigma ) * exp (- ( x-mean)/lambda )
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* Multi exponential

* A*Exp( (x-mean) / lambda ) + B*Exp ( (x-mean’)/lambda’) +...
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LAMPS L} Fitting &

Error Function * Exponential

 [0] * {Tmath::Erf ( (x—[1])/[2] ) +1 } * Tmath::Exp( -(x-[1])/[3])
 [0] : Signal Height equiv. value
* [1] : Signal Timing
* [2] : Rising constant
 [3] : Decay constant

« M2 O| HBEALF 2| Parameter
* Attenuation
e Delay
 Reflection
* Two time reflection
* 13 parameters

=>4 parameters / peak
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Good Fitting result

14 parameters

->How to reduce
->How to convert to timing & energy

Consumed heavy CPU power



DAQ status

* LAMPS Trigger electronics : Under
debugging

e TCB Triggering were stopped sometimes
e Semi-realtime data converter : done

* Semi-realtime event builder : done (for
120 crates )

* DAQ scripts for continues data taking :
done ( confirmed for 24 hr)

* Typical datarate: 4 MB /s




